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SN KA
o Mol MY X SR
SRl THOH - HH Ol 2 =R K (el &2
_ _ _ Muo
SNBSS - HRAY - BHES Aboy e HIRZE2
X 48 TH 3t 211,018,350 202,023,567 8,994,783
2 146,659,500
= 64,358,850
THOH . KO 2 =X 160,862, 150 183,982,835 £23,120,685
2 129,613,500
= 31,248,650
THoh - THE Ol 2 =7 K& 160,862, 150 183,982,835 £23,120,685
2 129,613,500
= 31,248,650
LA SR & 36,564,000 47,821,000 A11,257,000
2 21,939,000
= 14,625,000
401 A2 HIL 2T 34,606,000 45, 136,000 10,530,000
2 20,764,000
= 13,842,000
01 Al&H] 34,456,000 44,986,000 10,530,000
O+BHASX MY 34,456,000
2 20,674,000
= 13,782,000
03 Al & S CHH| 150,000 150,000 0
OXMAST HE AL 150,000
2 90,000
= 60,000
403 THXISHHI S XHE 0| & 1,958,000 2,685,000 AT27,000
2 1,175,000
= 783,000
02 2| 2SOl CHBHCH 8 AR bl 1,958,000 2,685,000 A727,000
OFBAST HEAY(BED 1,958,000
2 1,175,000
= 783,000
WAHRIBX R FH X2 38,569,000 38,035,035 533,965
2 32, 141,000
= 6,428,000
403 THXISHHI S XHE 0| H 38,569,000 38,035,035 533,965
2 32,141,000
= 6,428,000
01 RXISHIXI =2 X 38,569,000 38,035,035 533,965
OTHHPIB T 7 FHlAL 38,569,000
2 32,141,000
= 6,428,000
StEEA 2 Il K 6,949,000 13, 185,000 16,236,000
2 6,949,000
403 XHXISHHI S XHE 0| H 6,949,000 13, 185,000 6,236,000
2 6,949,000
01 REXIEHRIXH2 2 & 6,949,000 13, 185,000 26,236,000
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OftEEA o Y| 6,949,000
=2 6,949,000
A5E HEAY X 23,140,500 28,731,250 5,590,750
= 23,140,500
403 RXI EHHI S K2 0| & 23,140,500 28,731,250 15,590,750
= 23,140,500
01 XU 22X 23, 140,500 28,731,250 15,590,750
OABHE FUIALS 23,140,500
= 23,140,500
RS EEE 7,850 7,850 0
201 Yer2gy| 5,000 5,000 0
01 ALR 2l 5,000 5,000 0
O S X+YM 2R3 29 S 5,000
203 R =Yl 2,850 2,850 0
03 AI&4 =@ X Y| 2,850 2,850 0
OX4+YHY S = 2,850
ORI =S A EAl 29 210,000 110,000 100,000
= 200,000
= 10,000
201 L2 Y| 10,000 10,000 0
01 ALR eIt 10,000 10,000 0
OTHLIH M= 2 BisgY| 10,000
403 KX M S K20 & 200,000 100,000 100,000
= 200,000
01 IXISH =22 X 200,000 100,000 100,000
OZgaE BHALAY 2= 200,000
= 200,000
WHHSO s 22 =X 38,800 38,800 0
=2 26,000
= 2,800
201 Yut2 | 5,000 5,000 0
01 ALR 2l 5,000 5,000 0
OMUHS AMEHR &1 LBr+8H) 5,000
308 Xt Xl £HHI S 01 & 33,800 33,800 0
= 26,000
= 7,800
01 XS HALBES 33,800 33,800 0
OolEE= SaEd 33,800
=2 26,000
= 7,800
ZLAHRE MY KR (2NHFXL) 100,000 90,000 10,000
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308 X+ £ H S0l & 100,000 90,000 10,000
01 HXSHBAEES 100,000 90,000 10,000
OZ 4028 AL 100,000
HLHTIGHE Al2i 22l Kl A 14,000 8,000 6,000
2 7,000
= 7,000
307 BI2+0| & 14,000 8,000 6,000
=2 7,000
= 7,000
02 QI2HAEE 14,000 8,000 6,000
OMBIIBHA A2IKS A 14,000
=2 7,000
= 7,000
MENTHE Z A ALES 24,859,000 27,775,000 £2,916,000
=2 20,716,000
= 4,143,000
403 XSRS KH=0| & 24,859,000 27,775,000 2,916,000
2 20,716,000
= 4,143,000
01 XXl M X2 2 X 24,859,000 27,775,000 ~2,916,000
OMENGHE Z& ALY 24,859,000
2 20,716,000
= 4,143,000
Dol 2 Fl 23,760,000 19,440,000 4,320,000
=2 19,800,000
= 3,960,000
403 XSRS KH=0| & 23,760,000 19,440,000 4,320,000
=2 19,800,000
= 3,960,000
01 XXl M A2 2 X 23,760,000 19,440,000 4,320,000
OnEtol 2 | 23,760,000
2 19,800,000
= 3,960,000
KBIZETIS ARG IHL ALY 5,086,000 4,030,000 1,056,000
=2 3,913,000
= 1,173,000
403 XSRS K20 & 5,086,000 4,030,000 1,056,000
2 3,913,000
= 1,173,000
01 XX M A2 B X 5,086,000 4,030,000 1,056,000
ONILE ABIS ALY 5,086,000
2 3,913,000
= 1,173,000
STAX SVABNG AL 1,564,000 0 1,564,000
=2 782,000
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< 782,000

401 Al &8I 2 S OHY| 1,564,000 0 1,564,000
= 782,000
= 782,000

01 Al&HI 1,554,000 0 1,554,000
OSTAX SABXS FHl A 1,554,000
= 777,000
= 777,000

03 Al& S CHH] 10,000 0 10,000
OSTAX SUAEKY FHl A 10,000
2 5,000
= 5,000

Shal - @ XIS FHl ¥ HY 23,296,000 8,842,000 14,454,000
= 17,046,000
= 6,250,000

ShE mHl 2 @ F#X | 23,296,000 8,842,000 14,454,000
= 17,046,000
= 6,250,000

o XS KX 1,246,000 2,352,000 A1,106,000
= 1,246,000

403 XX EFH S X2 0 & 1,246,000 2,352,000 A1,106,000
= 1,246,000

01 KHXISHHI X2 2 & 1,246,000 2,352,000 A1,106,000
OYFH T2 AY 1,246,000
= 1,246,000

stEdIEHE 4 2,000,000 1,500,000 500,000

SNEEIEE ] 2,000,000 1,500,000 500,000

01 Al&HI 2,000,000 1,500,000 500,000
SLE-PIESTEIRSS 1,500,000
OXNsIE RS ZHDA L CBHHY 500,000

ot JHEa 2 |x2e 2,440,000 660,000 1,780,000

403 XSS KH= 0| & 2,440,000 660,000 1,780,000

01 XHXISHHIXHZ 2 X 2,440,000 660,000 1,780,000
OXNYotE RX24 600,000
Ot F| 840,000
OXgstd EXB Hy| 500,000
OFs+2n FHAY 500,000

StE Bl MBI A KIS 450,000 450,000 0

308 XX EH I S 01 & 450,000 450,000 0

01 XIS P AR ES 200,000 200,000 0
OHESXMN2AN G2 2HEI} 242 S 200,000

02 B4+ne2 250,000 250,000 0
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OdtEAIEsd+1NE2 250,000

Ngotd HAEX B4 1,000,000 1,000,000 0

401 A& HI L E20H| 1,000,000 1,000,000 0

01 Al&H| 1,000,000 1,000,000 0
OXNS 1S EHAEXN B &AL 1,000,000

= =Y HT A ZHAY 2,160,000 2,880,000 AT720,000
= 1,800,000
= 360,000

403 XX S S K201 ™ 2,160,000 2,880,000 AT720,000
= 1,800,000
= 360,000

01 MIXIEMAZ2E X 2,160,000 2,880,000 AT720,000
O2 =88 YU Al Z4AY 2,160,000
= 1,800,000
& 360,000

2ol S22 (4Hd-2 -5 8,000,000 0 8,000,000
= 8,000,000

201 L Et2HY| 5,000 0 5,000
= 5,000

01 AtR2t2|dl 5,000 0 5,000
O=2Dtold gXl&el 24 5,000
= 5,000

202 o4 4l 15,000 0 15,000
= 15,000

01 2| 15,000 0 15,000
O2DJtotd gXlael g4 15,000
= 15,000

403 XXM S AH201 A 7,980,000 0 7,980,000
= 7,980,000

01 AXHMAN2E X 7,980,000 0 7,980,000
O=Jtotd S X2l 7,980,000
= 7,980,000

2010t SN 22| (42 -2016td8-E ) (BX) 6,000,000 0 6,000,000
= 6,000,000

201 LBEt2HH| 5,000 0 5,000
= 5,000

01 AtR2t2|dl 5,000 0 5,000
O=DJlotd (401 Q) |A2e gRFX 5,000
= 5,000

202 (4 Hi 11,250 0 11,250
= 11,250

01 2o I 11,250 0 11,250
O=2DJlot& (401 Q) |X2e g2=X 11,250
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SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
= 11,250
403 AtXISH S X201 5,983,750 0 5,983,750
= 5,983,750
01 AXIEHA2E X 5,983,750 0 5,983,750
O=otota (4012 2) sX2el 5,983,750
= 5,983,750
HRES (X 4=2 ) 26,721,800 9,056,732 17,665,068
HEHH K= 7,700,000 6,696,232 1,003,768
Mtzte|lls ME3 7,700,000 6,696,232 1,003,768
0RIISHES 7,700,000 6,696,232 1,003,768
01 JIS&EEZ3 7,700,000 6,696,232 1,003,768
OMet2e|lIg &85 7,700,000
BHXE 19,021,800 2,360,500 16,661,300
SHXE 19,021,800 2,360,500 16,661,300
311 Xt SOl Xrake 1,101,800 1,440,500 A338,700
01 Al - EXISHE DS Xt S 0| XHake 665,000 665,000 0
O'08 =HASKIHLAIY Xt Z Ol RHake 315,000
O'09 =HASKIHLAIY X3 Ol KHatet 350,000
03 Est=asJ| 2 X S0l AHAHE 404,600 715,700 A 311,100
O'09 =& SXHLAIY X3 Ol RHaket 238,000
O'09 THHAE X AEBIAIY XS Ol AHakst 166,600
04 SLAHEXNL S0l AH&E 32,200 59,800 A27,600
O'98 o= (MEX=)0| X4 32,200
601 XL SJAS & 17,920,000 920,000 17,000,000
03 EslasJI2xLd3sr=4E 17,000,000 0 17,000,000
O'09 =ollafsXl HAMY Xtea BI|ake 10,000,000
O'09 THHAE X AEBIAY X2 I &E 7,000,000
M4 SLYEXNLSI I EE 920,000 920,000 0
O'B sll=R(MEX2)2S4E 920,000
HE2AAH (X TH) 138,400 142,000 23,600
Jl2ZH (XI=2TH) 138,400 142,000 23,600
=2l 138,400 142,000 A3,600
201 B2 | 85,600 87,400 A 1,800
01 At 2teltl 48,600 50,400 21,800
OXN=LMHgRFA 48,600
02 2324l 37,000 37,000 0
OXN=LMHLRF& 37,000
202 (44| 48,600 50,400 A 1,800
01 =2 WA b 48,600 50,400 21,800
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